| Efficiency vs Dxy |

.05
O N N N N N N N N N
] e A A IT """" Pt
> : : : : : : : : :

L] SRS S e | o e S
R S T A S
e e 0 S A
© Foo : : : : : : : :
[0 e e S A A S S A
YT s e s e s e
002— ------- i S

L e s S T
L

YIS S G L T

. : : : |
J-O--IIII:IIII:IIII:IIII!IIT':

098 56-156-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_mKFii_TTbase
ffici —e— DQM_mKkFit_TT_retrainOIldFiles125_v2_prelimWP_b5iter
| Efficiency vs Dz | —— DOM_mkFit_TT_baseline_6iter

—+— DOQM_mkFit_TT_RetrainV2_WP1_6iter
10.05 : S S S

QOUS[
e e

Q g : : : : :
POA e [
O r : : : . .
G035 0 R frorereeeee 1 O A
o r 5 5 5 4 g
0.03F o oefr oo e O
0,025t frf il

oaet
0.015F il l'[ ' :

0.01F {2} T . .
AA N 1
.l | | | i |

0
— B b
© ¢ 1+ 1Tl .
1.05F---------=

AL L FH A
11l ] 4] )

1.05
1

0.9 0 10 20 30

TP dz (cm)




	Contents
	Page 1


